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50 Questions (50 Points) Question Bank: 79 Questions
Test Questions 1 Test Assignment
Question 1 Generic Parent » Stuwlwl huwng 1 pt

Swng 1: Yhnpnuwprywihu ghymp Ywnnp nbp £ fuwnned Ujncpwthnfuwwyneejwu
gnpdpupwgltpnLd’ Jwulwygbing Eubpghwyh W tnwpptp wnwugpwihu dhwgnipinctultGph
Jwwnwwnpwpuwup:Yhunpnuwerywihu ghyintd wynuhunwg $tpdtunp Yuwnmwihgnid £ ghinpuwwnhg
hanghupwwn nwnabih thnfuwytnpwnudp: Wu nbwyghwih pupwgpncd ghinpwuinh wshuwduh C3
wwnnuh OH W C4 wwnnuh H fudpbpp wugwunynid BU* wnwewgutiny onup, Uty wy) onph UniGyney hbun £
Uhwund hwwnwy nunnnipjwup’ wnwewlbiny hgnghunpwun (gdwwwunytn 1): WuntwdtUwjuhy,
OH huncupp C2 nhpph wshuwsUhu Gppkp sh Uhwuned:

'coo- 'coo

N 5]

3(i:H2 wynuhunwg 3(%H2
HO=C—COO < E H—fT“— COO"

|

“cI:H2 Ho—"(lz—H

5CO0" °CO0"

ghinpwtn hanghwpwin

Qswwwwnytn 1

VUpk p, Bb Lhwliywy whnpnifubphy npp Juwd npelip B fhgu:

A) Shupwwnlu nluh EuwuwnhndtGputn® Uhdjwug hwjbwhl wwunytp
hwunhuwgnn hgnuGputn:

¥ B) bhgnghnpwnl ntuh Euwlinhndbputn:
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v C) Lnusnypenud wqwwn ghinpwwnh wnywniejwl nkwpnud Gpyne
-CH2COO- tudptnp untptnphuhwwbu hwdwndtp Gu:

D) Shwupwwnh' wynuhinwgh htwn Yuwdwsd |hubine ywpwaguwnud Gpyne
-CH2COO- hudptpp unbptnphuhwwtu hwdwpdtp Gu:

Question Type: Muitiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers

Date Added: Sat 20th Feb 2021

Last Modified: Fri 26th Feb 2021

QID#: 26,480,017
Question 2 Generic Parent » Stuwlwl hwpg 1pt

Awng 2. Unnpl ppdwé gbwwwwnytn 1-p gnyg £ nwjhu YEunwuwywl wuduwu
Uhuinnpnunphndubph gnwjht uncuwtughwinud prywsduh uwwnrnidp (QUswnnieiniup)t UW4d-h (ADP)
Yuwd phuhwlwl dhwgnipgnilutinh (nhuhnpndtung (DNP) Yuwd nhghyinhtpuhiywppnnhhdhn (DCCD))
hwdBntduGph ywpwaguwnwd: UntuwBughwl wpnbl wwpniuwyned £ 2Uswinwywl uncpuinpwitnutn,
rrYywshlu W wuopgwluwywu $nudwn:

2 +ADP

(@)

2 \ +DCCD
3 |
=, +ADP
o |

c
s
o
o
dwdwliwy dwdwliwy

*éwyunnllp 1. Uhinnpnunphnidutnh Ynndhg rereywduh uwwrenwdp untuwbughwjned: 5pynt
thnpatpnud wybugyt U Wud-h hwyjwuwp wihpynuinubn® pwdhultn:

<bzhl P> BB Lhwlipwy wlpnuifubphyg npp Guod npelip Bu Bhouwn:

v A)  UhwuinpnunphnudUtipp ntiwy U pungnyt Eyangbl wybjugyws Uud-U:

v B) UhUsl phuhwlwl dhwgnipynibubn wybiwgutpn dhinnpnunphndutnp 2uswnniginil Gu
Juwuwwnpnd dhwyl, Gpp wnwpwunwd £ UGD:

C) Muwuwbdwnp, np DNP-U hupwlunwd £ prywdUh uywnnidp, wiu £, np UWed-h uhupbqn
hupuhu fupwuyncd £ DNP-h Ynnuhg:

v' D) DCCD-u wngbuynwd £ UGd-h uhuptqp:

Question Type: Multiple Response
Randomize Answers: No
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Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021
Last Modified: Tue 23rd Feb 2021
QID#: 26,480,089
Question 3 Generic Parent » Stuwlwl huwipg 1 pt

3wng 3: Ustuwdlh hgninnwjubpp (13C W '2C) nLunwdbwuptiihu pnyutpp nuuwuwpagynd Gu 2
fudptnnLd (gdwuywinytn 1) pun hgnunnwwiht $pwyghwutph pwdwldwl (delta-"3C, hwlwuwnpnid
1) : Uw Yuuwdws £ 13CO.-h L 12C0O,-h Unityniwhl quilgywslbph thnpp twnpbpnugjwl ht,
suwjwd Upwlg Uhple phuhwywl wnwppbpnienlulp hwjwnuh s6b: Snnnuhlpebgh pupwgpnid
Jwppopuhjwquihu $nputunutph Epynt inhwtpp wshuwshup CO»-hg $hpuncd B Gpyne fudpbpned,
GRE CO.-h thnhuwytpwyt| E HoCO3-h wuhhnpwq $EpdGUnh uhgngny:

NGwyghw 1: C3H50gP + Ho.CO3 — C4H405 + H3PO4 (C4 pnuubin)

NEwyghw 2: CsH12011P2 + CO5 + HoO — 2 C3H70,P  (C3 pnuubin)
B
(”C) Lilngy

BC = | ——— -1 x 1000

3¢
12¢ ) Unwbipugun

Lwjuuwpnii 1: Guny' pniuwjul gne, unmwbnwipm’ mhuhly
hanuinuuyhtt hwipwptipni pyni ap Gpypugqinh Yypu:

s funLup 2 funrup 1

{wlwunpynih

T a2 a8 a6 a8 20 w2 a4 a6 a8 w0 a2 M
& 13C (%)
Qdmwupumnytip 1 Swippbip poyyutipnid wdhwudth hgnnnwuyhl $pulghwibitiph (8°C wpdtp) pupunidp

ok p, b Lhwliywy whnpnifubphy npp Gud npalip BU Ahgu:
v A)  Ushuwdlh hgninnwtiph wwwnswneny wnwewgwd dnjGynwiht qutqyuwsltph
hwpwpGpwywu nwppbpnientll wytih Uts £ COs-nLd pwl HoCOz-nLU:

B) Ntwyghw 1-p Ywwnwihgyned £ nhpning-1,5-phdnudwn Yuwppopuhjwagnd/
opuhgbuwagny (RubisCO):

v C) Pnyutinh Gpynt fudptpu E) mwpptpnieintt BU nunwd hgnuninwBph Uhole:

v' D) Pphuap wwinjuwunwd £ funwdp 1-hU huly Bghwunwgnpblp funcdp 2-pu:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021

Last Modified: Fri 26th Feb 2021
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QID#: 26,480,217

Question 4 Generic Parent » Suwwl hwng

3wng 4: Stunphdnignedp YebluwdniGynuutnph W opguunhnubph dwppdwl W wnwlduwgdwl
wdtbwywnplenp YELuwphuvhwlwl inGhubhywubphg E: 8Gunphdnigdwt pupwgpnid Udnwpubph
Luwinbgdwl wpwagnieintp (v) nunhn hwdtdwwmwywu E yhpwnwsd wpwgwgdwupn(ge), huswbu gnug
E nnpdwd hwjwuwnpdwu Uty (1).

v=3SXg,. (1)

Swywuwndwl Jte S-p Yngyned £ Lunbgdwl gnpdwyhg W npnaynid £ hwpwptpnupjwdp. dh ynnuhg®
InLdhgh Utg Gnwiéd wnwpywih ypw wgnnn Ysnpnuwhunyu nudp® hwdwphsned, W dinwu ynnuhg®
Uuwintgdwlp hwywagnnn dwsnighy nhdwnpnipjwl swthu wpunwhwjnnn ywpwdtupp
hwjwnwpwnned, huswtu gnyg £ npdué hwdwuwpdwu JG (2).

_ Yinlp—po)/N4
6mnr

S , 2

Vm : mmbgynn iniph unpught dSunjuy

£ inioh pinnipyniip

po: nLdhsh hunnipniip

7 : ninizh yunudhp, tpb Ghpunpbip L, np wyh ghguab ©
72 mdhsh dwdmghlnipjwub gnpowlhg

Na : Winqunpnjh hwumunnn &, 6.02x10% dnp

:UZE s ph tchl.ﬂl.l‘llul u.,llr],nl.ﬂ’ubp,'lg npp L,u.u.f npnhp ku ﬁhzm:

v" A) UhlUunyu swihtp W 8l nlutignn opquiinhnutinh Unwn S-p Ywnnn £ ogunwannsyty
nnpwug punncenLtulGph nwpptpnepnllltnp guwhwunGine hwdwn:

v' B) GUpwnptind, np rhpnundh hwdwnjw Ungl swithU nlugnn 2 Gupwdhwynpltn
dhwynpyned BU W wnwpwgunid widtih fun2nn Yndwbpu® S-p anpbipt YnYuwwwwnyyned
k:

v' C) Glupwnptind, np nhpnundh hwdwnjw Unyl swithu nlubgnn 2 Gupwdhwynpltn
dhwydnpynd BU W wnwpwguncd wytih fun2np Yndwbpu® S-p gnpbrt Upyuwwwunyyned
k:

v' D) Ruwuh np unynpwpwn gwsdp gndwunhdwlnud inwshsh dwénighynieyniup dtdwunwd E,
uwngbihu S-p Ythnppwliw:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021

Last Modified: Mon 1st Mar 2021

QID#: 26,480,877
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Question 5 Generic Parent » SEuwlwl hwng 1 pt

3wpng 5: Ud-p Lywpnwjhu ppohoutnpnid pwnwtpwihu wynintughwutph wwhwwudwl hwdwp
wuhpwdtown Eubnpghwih Yuwplnp wnpnep £ Qdwwwwnytn 1-p gnyg £ unwhu junwdwnph huyw
Uwpnh wpunthg Na* hnuubph wpwnwhnupl wju pwuhg hbwnn, Bpp Upwl Uepwpyt BU nwnhnwyunhy
24Na* wwpnLuwynn pnedbn (wphbutnwywl ghinnuywguw):

100

0.2 mM DNP

=l

<

=

£

&

= -

3510 -
=H

-&':

I = 10 -

E = =

= = -

gas ]

=.5 il

g =

- 2 L

(53

';% 1 _l.ll.].ll

50 100 150 200 20

dunim ]y (pnuyti)

G wunnllp 1: 24Na nwnhnhgninnwh wpunwhnuph wpwgniejwl hnwgnnnidp Yunwdwph hubw
wpunlhg ntwh wpwnwphu nsnye (dnyh onup): 0-wywl pnwth wywhhu 24Nat wwpniuwynn
pnLdbpp UGpwpydt) E wpunuh Jte: 100-190-pn nnwth pupwgpnid wpwnwphu dngh gnipp
thnfuwnhuyby £ (nuenyeny npp wwipniuwyned £ 0.2 JU DNP (nhuhwnpndtuny), npp opuhnwuinhy
Pnudbnphjugdw thentyhsy E:

Vol p, Bb Lhwiliywy whnpnifubphy npp Juwd npelp B fhgw:
v A)  Wu thnpép wtwnp Ewlgugdtn prywsuh pwdwnwn pwlwyniejuwl wwjdwllsnpnod

Uhwnnpnunphniuh Ynnuhg UGd-h uhUptnhy wywmhyniejntup ywhwwubine hwdwn:

B) DNP swwpnilwynn dndwenh wuwjdwlltpnod Uwindws 24Nat-h wpunwhnupp gnyg £
wnwihu ppehg Lwwinphnwdh hnulGph hGrwgnudp ny uwtghdhy tnpwluwnpunny:
¥ C) DNP-h oquwgnpanLupg htinn 24Na*-h wptwhnuph nLowgws bywgniup dwnbiwlignid

E wpunuh UGpunwd gunudnn UGd-h npnpwyh pwuwy, UGpwnjw| gihynihgh wpryntupned
wnwowgubdn:

D) ULwuwphnudh hnuuGph wywnhy tnpwluwnpup Ueppeowihu bwwnnphndh
ynugbunpwghwt Ypwnépwguh 10 ninynuny 50 pnwtnid, puin dninwynn

qUuwhwwnwywuh:
Question Type: Multiple Response
Randomize Answers: No
Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021
Last Modified: Tue 23rd Feb 2021
QID#: 26,481,091
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Question 6 Generic Parent » Stuwywl hwng 1 pt

3wng 6: Pnyubph woh hwdwn ullunwpwp wbopgwlwlwl hnuutph Jwinwywpwnpnidp wwpuwnhp
wuwjdwu E: Npn2wyh dpwywpnyup wabgyt) E 2 nmwpptn hnnGpnd (X, Y): 3nnh jnLpuipwiugnup
inGuwynid ulunwunietph (Ywihnwdh W pinphnh hnuutph) YnugGunpwghwutpp UGpYwjwgyws Bu
wnnuwynid: LEpYwywgywsd Bu Lwl pnyuh wpdwwnh EwhnGpdw) pphguGnpned jnLpwpwlgnip hnuh
ghunnuwyuquuwihu Ynugbuinpwghwubpp: Puswt'u £ jnupuwpwitgnip hnu UGppwithwugnid pehg, Gpp
EwhnGpdwy pogh pwnwlpwihUu wynuntughwih wpdtpp -150 U4 E:

hnultph 2wndnuwdp npn2dned E ElGYnpwywu W ynugBuwnpwghnu gnwnhGuunutpny: fdwnwpwihu
wnwbughwih wnpdtpp, npp Yhwywyznh 4nugGunpwghnu gnwnhBUwp, npn2ynud £ LEpLunh
hwlwuwpwy2nwihu ynintughwih hwjwuwnpnwdny.

C.
B=— 60 log .

z Co

(o)

E* vhpbumh huduiunwpulpppuyghlt wnntiaghun

2" hnlih |hgpp (op.” Ca** = +2)

Ci " hntih blippeeuwyhtt Ynbghiinpughw

Co * hnth wpunwpgewyhb Ynbghlmpughw (wyu nwypmy hnbh Ynbginpughwb hnnni)

hnuh tnpwluwnpunh nLnnneenlup npn2yned £ hwdtdwunGind Lepuunh hwjwuwpwy2nwihu
wnuughwip pegh pwnwlpwhU wnunbughwih hGwn: Wuwntn EGYunpwphdhwywl gpwnhBUunhu
hwlwnwy nunnniejwdp npwbuwnpup Yneyned E «wlunhyd impwbiuwynpun», huy gpwnhtunp
nLnNNLRjwdp’ «wwuhy tpwuuwnpu»:

bntlitiph inbgttmpughwb
S X <nnY wpiunh bujhntimiug
pehelitiph ghtingnynid
K LauU 0.01 00 100 40"
cr 0.5 40 50U 540

ok p, Bhb Lhwliywy whnpnidubphy npp Jwd npalip B fhgu:

A) X hnnnU Ywihndp Ubpdsynid £ wynhy inpwluwynpuinp dGhuwuhguny:

v B) Y hnnntd Yuihnudp Ubpssynid £ wyunpy tnpwliuwnpunp dsfuwlhguny;
C) X hnnnud pinphn hnuuGpp UGpsdyYnLd BU wwuhy wnpwluwnpunh UGhuwuhquny:
D) Y hnnnud pinphn hnuutpp UEpdoynwd GU wwuhy tnpwluwnpuh Jehuwuhguny:

Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Sat 20th Feb 2021
Last Modified: N/A
QID#: 26,481,266
Question 7 Generic Parent » StuwwU huwng 1 pt

Awng 7: Uhynpnopqwuhquubpnid W pnyutpnud Gpypnpnuwywl dGunwpnihqup Upwlg gnjunbcdwu
hwdwn wywpunwnhp ywydwl sk, wy) UGnwpnihy gnpdpupwg, nnp Ywplnp nbp £ uwnnud Yuhudwd
inbuwyhg ywd Eyninghwywt wnwwwnwghwubphg: Swwn Gpypnpnwywl UGunwpnihwnutn, npnup
Ynrinwyyned Gu pnyutipnud, ophuwy, Uhynwhup W Yyndthup, Ywplenp nbp U uwnnid pnLuwiytn
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Uhpwwnltbphg yw2unwwludwl gnpdplupwgneu:

Qyncynghunjwwnp, npp Yninwyyned £ Arabidopsis thaliana-h wnGpllutGnpnid, fununwytn Jhpwunutph
(Helicoverpa armigera) Unw Jyuunn wgntgnipnLl ntuh: Ywyph inGuwyh inGpllubpp (Wild) W
Uncinwnn alh inGplluGpp (Mutant), npnup wlywpnn Gu uhUpGgb] gynLynghUunjwwn, nwuwynpywd G,
huswtu gnug £ innpdwd gdwwwnytp 1-nud (OL inGpllwehptinh wpunwehu dwu, 1L wbplwphebnh
ubpphu Jwu:):

- b
Inner Lamina (IL) Outer Lamina ; Inner Lamina
‘Wild I
| Mutant |
T T T T 1
50 25 25 50 75

% pluwpnpinu

Qdwupunltip 1: (@) Pnpawpupuljub theunjuyph wywib, (b) Uhpwnh ppeniph jumwpud phupnipyub wipgnibphtpp

ok p, Pb Gl whnpniubphy npp Juwd npalip BU fhgu:

¥ A) Arabidopsis-h wjnph alnLd gynynghlniwiint wyih 2wwn Ynuinwyyws E wntpllubnh
rhrENUENh wpwnwphU Jwuntd:

B) Untiwluwn dunud gyniynghunjwinp hwywuwnuwswih Ynenwyyws £ intpllutph pninp
hwunyjwsutpneu:

C) Arabidopsis-n npwtiu ywunn Unce Yniinwynid £ Uhwju gyntynghunjun:

D) Unwyt) hwjwuwywu kE, nn Arabidopsis-h hwdwp rehretnh UGpphU Jwup
$hahninghwwbu wyth Yuwplnp £ pwl wpunwphu Jwup:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Full points if all answers are correct

Date Added: Sat 20th Feb 2021

Last Modified: Fri 26th Feb 2021

QID#: 26,481,358
Question 8 Generic Parent » Stuwlwl hwng 1 pt

3wng 8: Isoetes howelli-n Gpyytugwn pnyu £, npp Ywpnn £ wwpt W onwyhl, W unnpgnjw
wwjdwuutnnid: Swudwn dwpnip gopGpnud wdpnnenghu puyndyws wwydwuubpnud /soetes howelli-u
gnrgwpbpnud £ jncpophuwy puncpwapwywl dGinwpenihgd. npnauiyh dwdwlwlywhwundwdnid COs-n
$hpuyned £ wnweowgubiny Jwiww, huy vty w); dwdwuwywhwundwsnd wjil wupwnyned E,
npwtugh oguwgnpdyh $nuinnuphuptnhy wuhdhywghwih hwdwn: UGunwpnihquh wyu uGhuwuhaqdp
onwjhu wwjdwulbnnid pwgwywynid E: 8Gpwlwihu dwdtnhu /soetes howelli-h W wy|
Pnunnuhlpbnhy opgwuhquutnh Uhole wnbw Yihuh nudtin ungwygnipejniu:

Uk p, @b Lhwnbiyw) wlnniifubphyg npp fuad npelp b fhgun:

v A) Stplulbpnid dwjwwnh Ynugbuinpughwl wnwybjwagnyUl £ wpliwswahg wudhpwwtu
wnwg:

B) 3ntpophlwy UGwnunwpnihqup hwpdwpnnwywl E, pwUh np wju wwywubgunid E oph
ynpnruwnp:

C) UWu wnbuwyl ntuh wunpwihU lupdbnpp 2pgwwwiwnnn punpn? peholn® jwy quinquigwsd
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pInnnwjjwuwnuGnny:

v D) Uwnnponw wwdwllbnnd, npnug tnGuwyp wnwwunwgywsd E, gipluwyhl dwdtphu
CO»-h ogunwgnnédnudp wyth nddwn E, pwl gh2tpwihu dwdtnh:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers

Date Added: Sat 20th Feb 2021

Last Modified: Tue 23rd Feb 2021

QID#: 26,481,423
Question 9 Generic Parent » Stuwlwl hwing 1 pt

3wng 9: EnLtywnhnuubpu nL wypnywphnunuGpu nLuBU punhwunip wnwuduwhwwnynepnil. hNLE-uU
npwluywghwU uyuncd £ UNLG Ynnnuhg: Enctyunhnunhy hMLE-U undnpwpwn ununghuwnpnu £
ynnwynpnud £ Jhwju UGy wpnunthu, uhugntn wynnywphnunhy hMu@-u hhduwlwunwd wynihghuinpnu
£ Yynnwynpned £ Uh pwuh wypninthu: Unnple Uywpwapywd thnpabpp Yuwnwnyt) U pugwhwjinbine
hwdwn JGhuwuhqup, npny UNLS Ynnnup fupwuncd £ inpwbuywghwl: Mnuinunpwuuywghnu
pwjpwndp hwayh sh wnuyned:

(1) Escherichia coli-h Uh pwuh owtpnuuGpnid wypndnuninpp thnfuwphuyty £ fudnpuiuliywghu
wpnunuinpny W ubpuncsyt) udnpwutwghU ppholtinh Jte: QUuwywé wju pwiuhl, np pninp
owpnulipnLd inpwuuyphwghwih wpnynitupnid uhbetqyn) GU wdpnnowywl Gpwpnipjwdp UNL(G-
utin, npn2 owGpnuuGnnid tnpwluywghwih E Gupwnydt) Uhwju wnwehu gbup, huy npn2uGpp
npwluywghwih sh Bupwnyt| gtlutnphg W ng utyp:

(2) E. coli-hg unnwgyws wynnununinputinp Uhwgyt| GU fudnpwuliyGph npn2 gGutbphg huwnnpnuuGpp
htnwgutiny unwgyuws Yndwytdtunwp YLE-utphu (cDNA) W Ubpunwdyby wnkp E. coli-h pphe: Rninn
owGpnultph gGutphg wnwewgwd UNLE-Ubpp Bntb GU wupnnowywl Gphwpnipjwdp, uwyuwju
wnpwluywghwl pninn gGuGpnud Gnt) E wulpwl:

Wu thnpétnphg Glutind Ywntih £ wub), np WNLQ ynnnup, nnp Escherichia coli-ntd L. udnpwulyGpned
hwunhuwuntd £ lmpwluywghwjh hwpnignnn, dwbwsynid £ hGunlyw| JGhuwuhguuGph dhgngny:

gk p, Pb Lhwliywy whnpnifubphy npp Juwd npalip BU fhgu:

A) E. coli-nid npwlugwghwl uyuyned £ UNULE-h wnwghu WNLA Yynnnuhg' npwbu utnwipun
ynnnu:

v' B) hudnpwuliybpnid npwlugwghwl uyudnd EUNLE-h wnwghl UNLS ynnnuhg® npwtiu
unnwinu ynnnu:

v’ C) E. coli-nid inpwiluywghwl uyuynid £ UNL@-h hwwnniy hwgnpnwywunipjwdp hpple
unwnun Ynnnu dwnbwldwsd UNLG Yynnnuny:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021

Last Modified: Sun 21st Feb 2021

QID#: 26,481,536
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